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SFR-H

Answer to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,

his/her answers in Hindi will not be valued.
Question No. 1 is compulsory.

Answer any four questions from the remaining five questions.

Working notes should form part of the answers.

Marks
1..  Answer the following : :;:
(a) TSK Limited manufactures a variety of products. The annual demand
for one of its products — Product ‘X’ is estimated as 1,35,000 units.
Product ‘X’ is to be manufactured done in batches. Set up cost of each
batch is ¥ 3,375 and inventory holding cost is ¥ 5 per unit. It is
expected that demand of Product ‘X’ would be uniform throughout the

year.
Required :

(1) Calculate the Economic Batch Quantity (EBQ) for Product X’.
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(ii) Assuming that the company has a policy of manufacturing 7,500
units of Product ‘X’ per batch, calculate the additional cost

incurred as compared to the cost incurred as per Economic Batch

Quantity (EBQ) as computed in (i) above.

(b) SMC Company Limited is producing a particular design of toys under

the following existing incentive system :

Normal working hours in the week 48 hours
Late shift hours in the week 12 hours
Rate of payment Normal working : ¥ 150 per hour

Late shift : ¥ 300 per hour

Average output per operator for 60 hours per week (including late shift

hours) : 80 toys.

The company’s management has now decided to implement a system
of labour cost payment with either the Rowan Premium Plan or the
Halsey Premium Plan in order to increase output, eliminate late shift

overtime, and reduce the labour cost.

The following information is obtained :

The standard time allotted for ten toys is seven and half hours.
Time rate : ¥ 150 per hour (as usual).

SFR-H
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Assuming that the operator works for 48-hours in a week and produces
100 toys, you are required to calculate the weekly earnings for one

operator under-
(i) The existing Time Rate,
(i) Rowan Premium Plan and,

(iii) Halsey Premium Plan (50%).

(c) The following information pertains to ZB Limited for the year :

Profit volume ratio 30%

Margin of Safety (as % of total sales) | 25%

Fixed cost T 12,60,000

You are required to calculate :
(1) Break even sales value (%),
(if) Total sales value (T) at present,

(iii) Proposed sales value (¥) if company wants to earn the present

profit after reduction of 10% in fixed cost,

(iv) Sales in value () to be made to earn a profit of 20% on sales

assuming fixed cost remains unchanged,

(v) New Margin of Safety if the sales value at present as computed in

(i) decreased by 12.5%.

SFR-H ) P.T.O.
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(d) RST Toll Plaza Limited built an 80 kilometer long highway between
two cities and operates a toll plaza to collect tolls from passing
vehicles using the highway. The company has estimated that 50,000
light weight, 12,000 medium weight and 10,000 heavy weight vehicles
will be using the highway in one month in outward journey and the

same number for return journey.

As per government notification, vehicles used for medical
emergencies, Members of Parliament, and essential services are
exempt from toll charges. It is estimated that 10% of light weight

vehicles will pass the highway for such use.

It is the policy of the company that if vehicles return within 24 hours
of their outward journey, the toll fare will be reduced by 25 percent
automatically. It is estimated that 30% of chargeable light weight

vehicles return within the specified time frame.

The toll charges for medium weight vehicles is to be fixed as 2.5 times
of the light weight vehicles and that of heavy weight vehicles as 2

times of the medium weight vehicles.

The toll operating and maintenance cost for a month is ¥ 59,09,090.
The company requires a profit of 10% over the total cost to cover

interest and other costs.
Required :

(i) Calculate the toll rate for each type of vehicle if concession

facilities are not available on the return journey.

(i) Calculate the toll rate that will be charged from light weight
vehicles if a return journey concession facility is available,
assuming that the revenue earned from light weight vehicles
calculated in option (i) remains the same.

SFR-H
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2. (a) A Limited has furnished the following information for the months

from 1% January to 30% April, 2023 :

material (per kg)

January | February | March | April
Number of Working days 25 24 26 25 ol
Production (in units) per 50 55 60 52
working day
Raw Material Purchases | 21% 26% 30% 23%
(% by weights to total of
4 months)
Purchase price of raw| %10 312 213 T11

Quantity of raw material per unit of product : 4 kg.

Marks
10

Opening stock of raw material on 1% January : 6,020 kg. (Cost T 63, 210)

Closing stock of raw material on 30" April : 5,100 kg.

All the purchases of material are made at the start of each month.

Required :

(i) Calculate the consumption of raw materials (in kgs) month-by-

month and in total.

(i) Calculate the month-wise quantity and value of raw materials

purchased.

(iii) Prepare the priced stores ledger for each month using the FIFO

method.

SFR-H
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(b) B Limited has taken a contract for ¥ 70,00,000 and furnishes the

following information :

1% Year 2" Year
(Amount in T) (Amount in )

Material 12,50,000 13,65,000
Wages 12,50,000 11,44,000
Direct Expenses 4,20,000 3,80,000
Indirect Expenses 2,70,000 2,60,000
Work Certified 32,00,000 70,00,000
Work Uncertified 2,19,000 -

Other Information :

e  Plant costing ¥ 3,40,000 was bought at the commencement of the

contract.

e  Depreciation of ¥ 85,000 per annum is charged on the plant on

Straight T.ine Method (SLM) basis.

e  There is a provision for escalation clause in the contract for

increase in material rate and wage rate in the second year only.

Standard material for the first and second year was 12,000 units
each year @ ¥ 90 per unit whereas the actual consumption was
12,500 @ ¥ 100 per unit in the first year and 13,000 units @ ¥ 105
per unit in the 2™ year. Standard labour hours for first year were
10,000 hours and for the second year it was 9,000 hours.
Standard wage rate was ¥ 120 per hour. The firm has paid for.

SFR-H
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10,000 hours @ ¥ 125 per hour in the first year and 8,800 hours
@ ¥ 130 per hour in the second year.

Required :
(1) Prepare Contract Account for both years without

considering escalation clause.

(i) Compute the total value of contract by considering the

escalation clause.

(ii1) Compute the total increase / (decrease) in the cost of

material and wages for both the years.

3. (a) PQR Limited manufactures three products — Product X, Product Y and 10
Product Z. The output for the current year is 2,50,000 units of Product
X, 2,80,000 units ‘of Product Y and 3,20,000 units of Product Z

respectively.

~ Selling price of Product X is 1.25 times of Product Z whereas Product
Y can be sold at double the price at which product Z can be sold.

Product Z can be sold at a profit of 20% on its marginal cost.

Other information are as follows :

Product X | Product Y | Product Z

Direct Material Cost (per unit) %20 320 320

Direct Wages Cost (per unit) T 16 T 24 T 16

Raw material used for manufacturing all the three products is the

same. Direct Wages are paid @ T 4 per labour hour.,

SFR-H P.T.O.
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Total overhead cost of the company is ¥ 52,80,000 for the year, out of

which X 1 per labour hour is variable and the rest is fixed.

In the next year it is expected that sales of product X and product Z
will increase by 12% and 15% respectively and sale of product Y will
decline by 5%. The total overhead cost of the company for the next
year is estimated at ¥ 55,08,000. The variable cost of ¥ 1 per labour

hour remains unchanged.

It is anticipated that all other costs will remain same for the next year

and there is no opening and closing stock.

Selling Price per unit of each product will remain unchanged in the
next year.
Required :

Prepare a budget showing the current position and the position for the
next year clearly indicating the total product-wise contribution and

profit for the company as a whole.

The following information is available from SN Manufacturing

Limited’s books for the month of April 2023.

April 1 April 30

Opening and closing inventories data :

Stock of finished goods 2,500 units i

Stock of raw materials 342,500 (¥ 38,600

Work-in-progress T42,500 | 42,800
SFR-H
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Other data are :

Raw materials purchased T 6,95,000

Carriage inward T 36,200

Direct wages paid T 3,22,800

Royalty paid for production T 35,800

Purchases of special designs, moulds 3 1,53,600

and patterns (estimated life 12

production cycles)

Power, fuel and haulage (factory) T 70,600

Research and development costs for T 31,680

improving the production process

(amortized)

Primary packing cost (necessary to T 6,920

maintain quality)

Administrative Overhead I 46,765

Salary and wages for supervisor and 3 28,000

foremen

Other information :

e  Opening stock of finished goods is to be valued at ¥ 8.05 per
unit.

e  During the month of April, 1,52,000 units were produced and
1,52,600 units were sold. The closing stock of finished goods is
to be valued at the relevant month’s cost of production. The
company follows the FIFO method.

SFR-H P.T.O.
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e  Selling and distribution expenses are to be charged at 20 paisa

per unit.
®  Assume that one production cycle is completed in one month.

Required :

(i) Prepare a cost sheet for the month ended on April 30, 2023,
showing the various elements of cost (raw material consumed,
prime cost, factory cost, cost of production, cost of goods sold,

and cost of sales).

(i) Calculate the selling price per unit if profit is charged at 20

percent on sales.

(a) ABC Company produces a Product ‘X’ that passes through three 10
processes : R, S and T. Three types of raw materials, viz,, J, K, and L
are used in the ratio of 40:40:20 in process R. The output of each
process is transferred to next process. Process loss is 10% of total input
in each process. At the stage of output in process T, a by-product ‘Z’ is
emerging and the ratio of the main product ‘X’ to the by-product ‘Z’ is

80 : 20. The selling price of product ‘X’ is ¥ 60 per kg.

SFR-H
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The company produced 14,580 kgs of product ‘X’.

Material price : Material ] @ T 15 per kg; Material K@ ¥ 9 per kg;

Material L@ X 7 per kg. Process costs are as follows :

Process | Variable cost per kg (X) | Fixed cost of Input (%)

R 5.00 42,000

S 4.50 5,000
...‘

T 3.40 4,800

The by-product ‘Z’ cannot be processed further and can be sold at ¥ 30
per kg at the split-off stage. There is no realizable value of process

losses at any stage.
Required :

Present a statement showing the apportionment of joint costs on the
basis of the sales value of product ‘X’ and by-product ‘Z’ at the split-

off point and the profitability of product ‘X’ and by-product ‘Z°.

Beta Limited produces 50,000 Units, 45,000 Units and 62,000 Units
of prodyct ‘A’. ‘B’ and ‘C’ respectively. At present the company
follows absorption costing method and absorbs overhead on the basis
of direct labour hours. Now, the company wants to adopt Activity

Based Costing.

SFR-H
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The information provided by Beta Limited is as follows :

Marks

Product A Product B Product C
Floor Space Occupied | 5,000 Sq. Ft. | 4,500 Sq. Ft. | 6,200 Sq. Ft.
Direct Labour Hours 7,500 Hours | 7,200 Hours | 7,800 Hours E
Direct Machine Hours | 6,000 Hours | 4,500 Hours | 4,650 Hours
Power consumption 32% 28% 40% |

Overhead for year are as follows :

T
Rent & Taxes 8,63,500
Electricity Expenses 10,66,475
Indirect labour 13,16,250
Repair & Maintenal;ce 1,28,775
33,75,000

Required :

(i) Calculate the overhead rate per labour hour under Absorption

Costing.

(i) Prepare a cost statement showing overhead cost per unit for each

product - ‘A’, ‘B’ and ‘C’ as per Activity based Costing.

© The Institute of Chartered Accountants of India
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() MNP Company Limited produces two products ‘A’ and ‘B’. The 5

relevant cost and sales data per unit of output is as follows :

Product A | Product B
Particulars
®) ®)
Direct material 55 60
Direct labour 35 45
Variable factory overheads 40 20
Selling Price 180 175

The avgilability of machine hours“is limited to 55,000 hours for the
month. The monthly demand for product ‘A’ and product ‘B’ is 5,000
units and 6,000 units, respectively. The fixed expenses of the company
are ¥ 1,40,000 per month. Variable factory overheads are T 4 per
machine hour. The company can produce both products according to

the market demand.
Required :

Calculate the product mix that generates maximum profit for the
company in the given situation and also calculate profit of the

company.

SFR-H P.T.O.
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5. (a) NC Limited uses a standard costing system for the manufacturing of its 10
product ‘X’. The following information is available for the last week

of the month :

e 25,000 kg of raw material were actually purchased for
¥ 3,12,500. The expected output is 8 units of product ‘X’ from
each one kg of raw material. There is no opening and closing
inventories. The material price variance and material cost
variance, as per cost records, are ¥ 12,500 (F) and ¥ 1800 (A),

respectively.

e  The standard time to produce a batch of 10 units of product ‘X’ is
15 minutes. The standard wage rate per labour hour is ¥ 50. The
company employs 125 workers in two categories, skilled and
semi-skilled, in a ratio of 60 : 40. The hourly wages actually paid
were T 50 per hour for skilled workers and T 40 per hour for
semi-skilled workers. The weekly working hours are 40 hours per
worker. Standard wage rate is the same for skilled and semi-

skilled workers.

e The monthly fixed overheads are budgeted at ¥ 76,480.
Overheads are evenly distributed throughout the month and
assume 4 weeks in a month. In the last week of the month, the

actual fixed overhead expenses were ¥ 19,500.
Required :

(i) Calculate the standard price per kg and the standard quantity of

raw material.

SFR-H
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(i) Calculate the material usage variance, labour costvvariance, and
labour efficiency variance. |

(iii) Calculate the fixed overhead cost variance, the fixed overhead

expenditure variance and the fixed overhead volume variance.

Note : Indicate the nature of variance i.e. Favourable or Adverse.

(b) The following information has been obtained from financial 5

accounting and cost accounting records.

Financial Cost
Accounting | Accounting
L4 L4
(i) Factory Overhead 94,750 90,000
(i) Administrative Overhead | . 60,000 57,000
(iii) Selling Overhead 55,000 - 61,500
(iv) Opening Stock 17,500 22,500
(v) Closing Stock 12,500 15,000

Required :

Indicate under-recovery and over-recovery and their effects on cost

accounting profit.

[Note : You are not required to prepare reconciliation statement.]

(c) How does the high employee turnover increase the cost of production ? g

Explain.

SFR-H P.T.O.
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6. Answer any four of the following : 4x5
=20

(a) Define cost objects and give examples of any four cost objects.

(b) Explain what is meant by Practical capacity and Normal capacity. How

is normal capacity determined ?

(¢) What is meant by Activity Based Management (ABM) and discuss

how Activity Based Management can be used in the business ?

(d) Suggest any one basis of re-apportionment of service department

overheads over production departments in the following instances :

Cost of Service Department Basis

() Maintenance and Repair Shop

(i1) Hospital and Dispensary

(i) Fire Protection

(iv) Stores Department

(v) Transport Department

(vi) Computer Section

(vii) Power ITouse (Clectric Power Cost)

(viii) Inspection

(ix) Tool Room

(x) Time-keeping

(¢) How will you treat normal loss, abnormal loss and abnormal gain in

process costing ? Explain.

SFR-H

© The Institute of Chartered Accountants of India



(17)
SFR-H Marks

Hindi Version
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(b) SMC %t ferfives we fafdre feamda & Raeht =1 searer PR
T8 8§ ATy sl 92 48 g
qwrE ¥ o Rige g 12 g
T - W Y : T 150 e g

defime: 300wl we

60 w2 3fd FeaTe (St fire e A aftifie H 5v) IR FE aad
ITE : 80 Raeia
FPH! YU T 378 e 9ig w9, A R it 9 I w50
T 57 AT B FW F T, Jav ifem wm @ wed shftem
W%Wmm%wEﬁmmmwﬁuhﬁmg.
fr=faRea e o A A 2
101@'@%%%%1@%@_7% e
A 10T o (@RI ET )
g AT g fo6 Hiftieh wh qears F 48 2 1 e R 9901 100 Reeh
H1 I A 2, AT T Hifies & TR e Mo,
& =TT, T Y ET
(i) TEIE gHT
(i) V= St @ e,
(ifi) &TeR Sifm < (50%)

(c) ZB Toifires i feret o ) ey gt ammaeny & mreft &

TN HEAT ST 30%

& HHT= (F Tosmg 1 %) 25%

Rt AT ¥ 12,60,000
SFR-H

© The Institute of Chartered Accountants of India

Marks



(d)

(19)
SFR-H
frefaRaa & o Hife
() wm-Rrede R e @ ),
(i) TauH $A fora I )
(iii) mﬁaﬁww(i),aﬁmmmﬁm%w%m
FAHT AT T ARAT HEAT T 2 |
@iv) BT T 20% TN AR HE % R fsra w1 I () T8 A
U 6 wureh @ srafiEfda €, ‘
) wgim@ﬁm?raﬁaﬁmﬁmu@ﬁmﬁm(ﬁ)ﬁﬁni
2, 12.5% FH A I@I2 |

RST@EW%ﬁ%@é:@ﬁ%msoﬁ.ﬁ.wmwﬁuﬁ
m%wwmmmmmmﬁammm%
£70 T et AT ) TR S 2 | A ¥ gt e @
T T8 & & 9 A 50,000 F WR 918, 12,000 AEH W TR
T 10,000 ST T STE 9 1 ST HE 3R arereht ama1 o forg o
<6 S § T BT |

o e % oHER, Hfe fufee, dEe @t o
ST Tl F R I § SR T T FTE A -HR § I E |
agagmﬁa%%w%mﬁsmmmwﬁ%mmﬁ T |
ﬁﬂﬁ%%aﬁma@m%zﬁ%%mmﬁmm%ﬁ
Y6t TR, TA: 25% U T TEAT JIA | I8 AT @ T 30% TR
A Tereh aTed Tt a € & Sigt ard gl |

e W ATE 1 316 TR, T% VR S8 o i W o 2.5 1 qeT
ST W STE T SN YW HEIW W AT % MR &1 2 T fwifa
e @ |

3161 3 TRETE T8 ST Y T HTE o1 ST < 59,090,090 7 | FHEAI,
I TS 378 AT Y TSI A §U Bl ST W 10% T =t
2|

Marks

SFR-H P.T.O.

© The Institute of Chartered Accountants of India



(a)

(20)

SFR-H Marks
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(25)

SFR-H

amtga?ri:

o fafifa urer % IR i ®I T 8.05 e 3T W Heaifehd foha
IR |

o @ g § 1,52,000 Seh1gAT T ScuTe fham T 3R 1,52,600
ToTeal s 1 it | fififa e % sifom el @1 qEE
Haftra WTg ! Icared WNTd 9 R ST R | Ut FIFO 9gf
JTTHTT LA 8 |

o firsra wa frawor == 20 o Wi 518 B X @ wTRa FER |

o g WA o Toh SeUTG TF TH AR H I A1 R |

anaféra :

() < o fafi= qeat (e |, STt ST, SREH 9hT,
IATEA T, Trshia "t <Y T aen faska B e B weid
T g, 30 31}, 2023 H TANG B a1 A1E F FAC AT 0
IR T |

(i) afE fosra ux 20 wfera @ i 2, o i g sk e <6t
O HINTT |

ABC %7} Teh 3T~ X’ 1 IATET HLdl 8 S o1 Sfshamadi — fshan
‘R, SfFT ¢S’ UMK T & ToRaT B | WA ‘R’ H I TR H
S W — J, K 3% L, 40:40:20 % 31U § Yg & 8 | T
ufdkan 1 3T JrTelt Sfshen o wrTaia R Sirar 2 | SR &,
A% URRAT § Fel Y B 10% & | THRAT T H TG o =0 W,
T IT-ITE Z T Bl & a1 J&F 3c91g ‘X' 3R 39-31g ‘Z' H
FTAT 80 : 20 B | Seqre-“X W Tersha e T 60 Wit fopunn & |

Marks
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5
SFR-H ' Marks
‘Wﬁm—‘X’ am 14580%!:1 maﬂmﬁm | mtm"ramqa

ety |
ﬂmﬁf;’- tlswﬁ‘r%m
amft K t9uﬁrﬁam
m:r;ﬁ ?7?%1%111

sk wmTe frsrea &
BIET qfEsfier SR FYe 6l SR 1T (%)
(wfer f.am.)
®)
R 5.00 42,000
4.50 5,000
T 3.40 4,800

SIS 2 T 3T ifshen wwe el & 3, qerahietor & =T W, € 30
gfe 5.0, 6t @ & S o wha & | Feelt off oo ) sl wf @
AT I TE @ |

mw%wmm i ‘X’aﬂtaq‘lma ‘z'%famr@%
YR T G TG 6 AT T Ieqme X 3R Iqearg-2”
AT %1 TGRTT St §T T foremor dam Hifdra |

SFR-H
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(27)
SFR-H
(b) Beta TIfiieg IcTE ‘A’, 37UTg ‘B’ 3N IG ‘C’ hl FHHAWM: 50,000,

45,0003ﬁ162,0003%|3ﬁm3?qm$&ﬁ% | SAE B SHE STFEy
ST TR I I HTl & AT SYNE! H TG SH 60 b HTUR T
TN Ff B | A FHE it smenia T 9gik S S
<rEdi 2 |
Betam%mwwwwmﬁz

A B C
rpa Tl &1 | 5,000 T e | 4,500 7 Hie | 6,200 =1 HIE

TIY 99 T 7,500 TUS 7,200 T0 7,800 TUS
JAY A3 g | 6,000 HR 4,500 T0 4,650 T0S

Siferd ITHT 32% 28% 40%
4 % Sy fretaa & -
4
fertrn T 8,63,500
R == 10,66,475
AT 9 13,16,250

IO O SR 1,28,775
~33,75,000
m:
(i) TSSO ST % FH=rTa Sl 97 et ST T hY TUMET HY |
(i) Ty meTia ST ugf % SITER T I ‘A%, ‘B’ W1 C’
¥ forq wfy s SuRerm o 1 YeRia #d ge Fawr dam
HIT |

SFR-H
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(c) MNP st feafee €t I <A’ 3R ‘B’ 1 3cmed il & | 3eT )

(28)
SFR-H

Sl 3hTE { Fifrq ST Ue fersha e e §
A A’ | 3G B’

®) ®)

g gt 55 60

et 35 45

TRETe SR Sty 40 20

fospa oo 180 175

TTE & A1 "Ue hi ITSEAT 55,000 TS T WA B | I ‘A’ 3K
TG ‘B’ 1 AT AT FHHA: 5000 FHTE 3N 6000 IHTE B | FE5H) 7
T S 2 1,40,000 Sfd w1 # | uRard=eie s suie 7 4 9y
wef woer & | Rt SR ) A % ST T ST 1 e

et § |
fdra

< TRt et 9, e - T, S st & fRr st @ g s,

Y TTOrET I o et % @Y oft oy HifE |

(2) NC fofiee wme wrm wft @1 swi Sere <x % fmin 3§ w2 )

TTE % T qTg <l feAferiae et Iuerey #

SFR-H
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(29)
SFR-H Marks
o 25000 T, gt w1 A T 3,12,500 ¥ area § fean T |
% Teh 6.7, et gt & IaTg <X Y 8 TN BT IS
TR B | 1S TRREs o Jifaw @i 78 @ | @vm stferat %
AR Tl gour foreror wa el T fee s % 12,500
(F) @RI T 1800 (A) ¥ |

o I ‘X’ HI 10 THIFAT o Th TYE % IcI1GA I AHH 97 15
forre & | s TGl g Ifty o1 ver 2 50 @ | e Q At — HEe
TS FEHA, # 125 HfEh! Y 60 : 40 % Fgara A Franfor w
2 | areafaes wiv wer Aeigd 1 W $e #fiel Y T 50 Wid
T qUT AEHAA AR B T 40 W v H [ A A W |
qTTaes HRfiel gve 40 Tve St #fives & | A Aeigl X FNA
ud gt st & fmamm R |

o TuRE Tt T IUNE T 76,480 3 | IUNSA HIE W&
THAUH faia 2 991 U HIE § 4 GHE WH TS 8 | 6TE % T
g H, areafies T SufEa 19,500 9 |

e

() et gt o g R, O god aun St arRft Y W A
1 O HIY | |

(i) arEl e fereror, sm T ferero auT s preran feRRor R
TToET I |

SFR-H P.T.O.
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(30)
SFR-H _ Marks
(iii) TR Iufeay T foreror, wmft S9fitery w5 fa=rur gt wurfh

RS 9T (Volume) foremor &t o HIf |
e : few Slﬁﬁ%f _ Favourable 3T Adverse T 3c1@ Eﬁﬁlﬁ |

(b) forchta wa e it @ e gaaTd e <y A € 5

fafie dEea | o S
¢ g
() TG IINEIT 94,750 90,000
(i) SNTTES TR 60,000 57,000
(i) Tosra STie™ 55,000 61,500
(iv) TR gl 17,500 22,500
(v) Afow @han 12,500 15,000
e :

/3T SMwor 1 b EIRTT qUT ANTG A@TRT o W U T
TuTat i T FIR | |
[[IE : TR feremor s ) STavaehar 78 8 1]

(c) I A FeAEdH, I hi AN ¥ fRW yhR gfg AT R 5
TR |

SFR-H
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6.

(31)
SFR-H Marks

feffga i a fFfi an s smdfm: | ' 45
@ T 6 R-ae 9 o SR T a B R F
fopmei =R IgTEll 1 Jeoid I |
(b) ToRaTeHeh ST TUT WY GHAT T AUTEA | T GFHAT i hd
YR fRuifca fpen a8 2
() Tffafy muiE yev’ i awemgd qun we i 6 fafafy
YT JeY 1 SZaEE 3 o8 TR w2 fpan s ashar @ 7
d) Frafafaa dar fym H arEl F Saaed faum | @ AfveE *
ﬁs@wmwmﬁm
Qar1-fewmr i ArmE ITER
(i) ARV TF HOHA W9
(i) NI Ta eeah
(iii) ST e
{iv) R fawm
(v) IramE o
(vi) TP HHH
(vii) TR BT (ferege atert Ter)
(viii) Fdtegor
(ix) ¢ &
(x) 9T AGA

) itk wva fafy # s w1l s w1 @ s @
A9 fre wo Frefia 4 7 wwsmed |

~ SFR-H
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